SL Indicies and Logs 2

Solve the equation log,, x =1 ~log,, (x - 0.4) .

c=calc nc=nocalc

Given that log, x =y, express each of the following in terms of y.

(@) logsx*
1
(b) log; (_)
x
(c) log,sx

Let p=log,,x,q=log,,y and r=log,, z.

Write the expression log,, [ZL] in terms of p, g and r.
¥z

Write each of the following in its simplest form
(a) eln,\' ;
(b) e(ln x+ny) ,

() In(e™).

Leta=logx, b=logy, andc=logz.

3

2 ’
Write log(x 4 Jin terms of a, b and c.
¥4

(a) Given that log; x—log,(x—5)=log, 4, express 4 in terms of x.

(b) Hence or otherwise, solve the equation log, x—log;(x—5)=1.

(@) Letlog 3=p and log, 5=g. Find an expression in terms of p and g for

(1 log_15;

(i) log,25.

(b) Find the value of d if log, =%.



